Efficiency vs dr

x 0.0
g

Ratio

o
©
a

'
SIED =
g%ga ‘TT‘clgPl
g}eg 1 efSS

ep3” TTh e; EWTOLDSAMPLE-reIfS

=
S
w

107 107 o1
TP min AR

[ Efficien

cy vs dr (track,jet) |

§0.01
00.009
=
%J.OOS
9.007
>
#.006
o
j5=E).005
)
0.004
0.003
0.002
0.001
<0

Ratio

2

15

1

-1

1
AR(TP, jét)

Efficiency vs pu

5 0.0
o
9.009F-
3.008F-
(]
®.007F
=
9.006F
0.005F
0.004F
0.003F
0.002
0.001

................................................

...................................................

..................................................

1.0

Ratio

0.95
2

(=]

25 30 35 40 45 50 55 60 65
Pileup



	Contents
	Page 1


